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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
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fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation
Use of ink remover or white correcting fluid is not aliowed \

( !.3,) (C) (B) (A) QUESTIONS Q-1
i (< < o WL S Sut Gpodepf| 1
None Durkheim Commette Sumner Who said Sociology is study of Social Institutions?
(v S o bt e ST Libs| 2
A.dl Maths Economics Sociology Which one of the following is not Social Science.
-4 VU WAL ui'ufd)?. Uikl 3
None Both Secondary Group | Primary Group |Close contacts are found in
g Lne e i e s | 4
None Interrelated Opposite Separate Social Status and role are.
None ¥d/ | Evil du | crime 2 sin st”  |Voilation of Lawis  _c (s iE
None U¥df | Both usn» Sitale el Gold Medal is s Jad | 6
-ve Sanction +ve Sanction
(v N1 ot Ui R e AT P s | 7
All College Hospital Prison Parole and Probation officer works in
o e Jé Sk wdrswl | s
All None Cultural change | Social change |Change in dress code is
a | i 4 o - o —
w( D) (C) (B) (A) QUESTIONS
A Seri ot JuF e Uil 94
None Religion Family Schootl Basic Socialization is responsibility of
418 Ui »le T2 e e dub Ut 23| 10
None Both Nuciear Joint In Industrial Society, the family system is
o S Ty et gty G| 11
All Laws Mores Folkways Social Norms are.

None uﬁ’dff Belief £ Laws ufl,s Norms «Us** |Religion is set of - i!fu.rf} 12
g o 26 g & te et fe S| 13
None Nomadic Industrial Agricultural | Machine is symbol of which Society.

o & s ol G ctnif St fos Pl 14
All Industrial Nomadic Traditional | Social change is fast in which society?
s LI N g 71U g e g e Jeulp | 15
None Both Negative formal | +ve sanctions | Traffic challan is an example of
sanctions
A e - & UKt 3535 | 16
None Industry Modernity Education Obstacles on the way of Social development.

None uﬁ" é)’ Both Usn | Achieved »/J% | Ascribed »45 s | Teacher is a status g et i | 17
s o dose | i o dd ot s G| 18
None Both Social Change Mobility Change in Social Status is called.

g i wife | wFite e bl e it | 19
None Both Social Control | Social disorder |Proper Socialization Leads to
None Lﬁf Jf Both U#s | Wrestling C;/ Boxing .ffL Physical Interaction is -& Jo dLr) 20
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Part I J:l - D
Answer briefly any Eight parts from the followings:-8x2=16 -q/}foyzf?é 120 47 ch. SSies 22
What is meant by Industrial Sociology?fe_ s /e =LFE” (i) Define Sociology. LS@ e )
What is meant by natural science? SeolrWe S H i)
Write down any two characteristics of Sociology as a Science. -q/}/”ugj” 2 J/ it u""’l,«/#.;«grj (iv)
What is the role of probation officer? fe M/ s K/fnf-&{ (v)

What is the application of Sociology in population welfare programme? e O Wil e (lj{d;ﬂd»ft (vi)
Describe two forms of Social interaction. u_/ Uk uf’ b Jé 44 (viii) Define Social interaction‘-gj"/ ..ny Je aﬁlr (vii)

Write any two examples of social action. g:’;dufl?;: d’ J‘f J}Lv (ix)
What is meant by Physical interaction? e orle Sd= (x)
Write down any four types of social group. -46(0"/? o’éfd/ufé/“b» (xi)
Write down any two characteristics of informal group. 464454:"'» d/ uf iy /{ (xii)

Answer briefly any Eight parts from the followings:- 8x2=16 S 2pen L T éﬁ_ M Ldien -3
. e .

Write two characteristics of status? S‘u:"(:,(“.m”» S (i) How many types of status are?S L3 u’f > (M

Write two functions of Social Norms? Su=*_s6y 1L w is® dPb (iv)  Wiite two enderesults of Role confiict, syt Lol Kl (i)

Define social sanctions. S & b (vi)  Write two functions of Law? Su=_i/¢, nZ YIE (v)
Define Social Deviation? ?q,/ _yﬁd/ .Jl/’} G}V(viii) Write four Negative social sanctions? -q/(/’oﬁ’ J’;g {vii)
For accumulation of wealth, what type of deviation individuals do? U LS BALL AL L UL s (i)
What is meant by division of deviant behaviour? Sl Ve ﬁy J,:u_;'/" (x)
Define Social value? S IEB e (xi)
Why value conflict generate social problem, write briefly? ~uf’6 7/5? Sud e G A e Lobas B0 i

Answer briefly any Nine parts from the followings:- 9x2=18 LI L G o (e LSt -4

What did Linton say about culture? e YL L el (i)
Write two causes of cultural similarities. = 40.»@.2; ) J .:I'l/(}s & (i)
Write names of Social Institution. .z, {/}téuubi@/‘t’»(iv) Write two demerits of Ethnocentrism-éigfu%» Jee? (il
What do you know about Joint Family. SUERYLTE AL gue S (v)
What do you mean by Informal Education? ?ujﬁ;l/ g(’,i'c, ("" W4 (vii)  What is called Nuclear Family?-o §f < Yol (vi)
Write the organizations of informal Education. -&té urf;’“ d/ (ll; u‘?,:f (viii)
Write two functions of Educational Institution. -2l byl g:w (ix)
What do you say about Religious Education. ~uj‘§ftf7f'uf Bl L (Zwuu (x)
Write four names of Religious Institutions. - (‘tl.l'aé Ul S5 (xi)
What is Horizontal Mobility. e Wi 7 d (xil)
Give two examples of Vertical Mobility. & sk ST (xill)
Part II (9 -~
Note: Attempt any three questions. 10x3=30 -q&/’.-,yza: elrfe 3 _uJ
5. Sociology is a science. Explain with arguments. L eoloy S s J’IJ;_;__ Sl s
6. Differentiate between social interaction and social action. - /lz )N J’ B}Lw;ld‘rﬁ B}Lv -6
7. Write down the difference between Modern and Traditional Societies. _Ef_{ ke J/'u.‘.' u,o/“lr [fbwlug 4
8. Describe the elements of evolution of society. LTI LGN s fo 8
9. Write the causes of social Mobility. ey S Uriel7 _9

1134 - 1123 - 10000



